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Find the following transportation problem by Vogel’s ‘ ; : Roll No.
approximation method : : '
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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5x +2p =22
x—-y=3
Solve the following equations by elimination method :
. 5x +2y =22
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: 4x + 5y = 14 Sy
3x-Ty=-11 | : X+8p=25
Solve the following equations using the method of | : X<3
cross-multiplication (Cramer’s method) : - - : Y3
4x + 5y =14 and %y20.
3x-Ty =-11 j TIR—2 _
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A : Evaluate the following determinant :
. z=x43p ; it
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x<3
A=l30450
| y<3 | Ligeg
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Solve the following LPP by graphical method : ! it B Tl
Minimize ; i : . : a8
z=x+3y ‘ Verify Ithat e :
e | (ABY = B'A’
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(6.45) x (0.00034)'/3
(9.37)% x (8.93)V4

Find the value with the help of logarithm tables :

(6.45)% x (0.00034)/3
(9.37)* x (8.93)1/4
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3. (3) 2,500 BT 5% TIf¥® P T J 10 T, 2019 A
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Find the simple interest on ¥ 2,500 at 5% p.a. for the
‘period from 10 January 2019 to 15 November,
2019.
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‘ (Za)' % 5,000 BT 6% aifies o A 41 af 7 TRy
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Find the compound interest on 5,000 @ 6% p.ﬁ. for
4-1 years, if i mterest is calculated half-yearly.
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A person took a loan of ¥ 8,000 for buying a TV. He
agreed to pay the principal and compound interest @
5.2% p. a. after three years. He sold the TV in ¥ 9,528

payrhent of which is payable after three years. Find his
profit or loss percent after three years.
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72.90 litre of a mixture contains milk and water in
the ratio of 7 : 2. How much more water must be
added to this mixture so that the ratio of the milk
and water may be7:3?
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It took 72 men working 8 hours a day to construct a
wall 250 yard long, 24 feet high and 6 feet wide.
How many men should be engaged to fulfil a
contract for constructing a wall 275 yard long,
25 feet high and 9 feet wide ? If they are to work

‘9 hours a day and finish the work in the same time

as the past.
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A student expends 30% of his money ard saves
¥ 21. Find his amount.
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In a class of 40 students the average age is 16 years.

5 students of average age of 14.8 years left the class
and 3 new students of 24, 17.5 and 19.5 years
respectively were admitted. Find average age of the
class.
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 If the purchased price of 50 articles and selling price

of 40 articles are the same, calculate the percentage
profit or loss.

YR U6 76 Tl B ARAT W 3% AT Q)
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(i) IR DI foperr o e ?

Sudhir purchased a house for ¥ 7,00,000 in all

‘fhrougl_m a broker by giving 3% brokerage and
immediately was sold by him at a profit of 3%. Find :

(i) The commission of the broker.
(i) The amount received by the house seller.
(iii) The amount gained by Sudhir.
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